16 The complex number z satisfies |z + 3 — 6i] = 3. Show that the exact maximum value of

. (1
argz in the interval (-, ) 1s ot 2 arcsin (ﬁ) (4 marks)
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Q1.

(a) Shade on an Argand diagram the set of points

{ zel: Iz—4i|g3 } N { zeC; —%<arg(z+3—4i)é% }

The complex number w satisfies

wW— 4i| =3

(b) Find the maximum value of arg w in the interval ( -, 7 -

Give your answer in radians correct to 2 decimal places.
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(Total for question = 8 marks)
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17 A complex number z is represented by the point P on the Argand diagram.

Given that |z — 5| =
a sketch the locus of P.

b Find the complex numbers that satisfy both |z — 5| = 4 and arg(z + 3i) = =,
giving your answers ammmeehems t0o 2 decimal places.

¢ Given that arg(z + 5) = and |z - 5]

of possible values of 8, - < § < .

) -
I
| A
)° . |
BEES AT R
e e
om 7 X
-y »

= 4 have no common solutions, find the range

B) 2 -5]=1
P - Sg*l—

:1:6)+[

(29 H{Fe-3) = 16
o '+ (lp-6r) 2 115 =

7’1 = 3,Cf62, :E)_ = ) 136
= 336 L = -1.03
!
przos
Zi = 2%,, 336» |
Zy= 1.1 =], 03,

(2 marks)
(6 marks)
(3 marks) _ .
C) sin'[ £\ =044 (26)
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